
OG AA 2023-04-28 2

MASW52291
 1 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tractorpart Rear
HAGS



 0
,1

0 
 0

,2
9 

0

1

TFT8x80 mm 8008645

Ø6,8
250

KTS-GF M8x25 mm

1
Wood

Steel

NR. Description MA Item Number Qty

1 1247x1792x15 1

24 Post 418044 2 OG AA 2023-04-28 2

MASW52291
 2 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tractorpart Rear
HAGS



3

4

5

6

7

1

2

2

NR. Description MA Item Number Qty
1 MVBF M8x45 mm 8039281 12
2 Ø857 8058122 1
3 Cover 8, Ø18x10mm 8005958 12
4 M6M-8 M8 ISO 7042 8042809 12
5 Ø9x18x2 mm 8008849 

(326017) 12
6 Cap 8 Ø27x11,5 mm 8005956 12
7 Ø8,5x27x4 mm 8005959 12 OG AA 2023-04-28 2

MASW52291
 3 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tractorpart Rear
HAGS



6

5

1

2

4

3

7 8 9 10 11

3

NR. Description MA Item Number Qty
1 1941x1036x15 8058114 1
2 1848x943x10 1
3 1882x1025x10 1
4 1991x1168x15 8058115 1
5 MVBF M8x55 mm 8039283 11
6 MVBF M8x40 mm 8008579 16
7 Ø8,5x27x4 mm 8005959 39
8 Cap 8 Ø27x11,5 mm 8005956 39
9 Ø9x18x2 mm 8008849 

(326017) 39
10 M6M-8 M8 ISO 7042 8042809 39
11 Cover 8, Ø18x10mm 8005958 39 OG AA 2023-04-28 2

MASW52291
 4 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tractorpart Rear
HAGS


	Sheet1
	Drawing View1

	Sheet2
	Drawing View3
	Detail View A (1 : 5)
	Drawing View6
	Drawing View10
	Detail View B (1 : 6)

	Sheet3
	Drawing View7
	Drawing View12

	Sheet4
	Drawing View13
	Drawing View14


